<!DOCTYPE html xmlns='http://www.w3.0rg/1999/xhtml'>
<html>

<head>
<meta http-equiv="Content-Type" content="text/html; charset=utf-8">
<meta name="viewport" content="width=device-width, initial-scale=1.0">
<!--[1if 'mso]><!-=- -—>
<meta http-equiv="X-UA-Compatible" content="IE=edge">
<!--<![endif]-->
<style type="text/css">
html,
body {
min-width: 260px;
min-height: 100%;
padding: 0;
margin: 0 auto;
}
a img {
border: none;
}
.ReadMsgBody {
width: 100%;
}
.ExternalClass {
width: 100%;
}
.ExternalClass * {
line-height: 100%;
}
table,
td {
border-collapse: collapse;
mso-table-1lspace: Opt;
mso-table-rspace: Opt;
}
.button {
word-wrap: break-word;
}
@media screen and (max-width:480px) {
@-ms-viewport {
width: 320px;
}
@viewport {
width: 320px;
}
}

ul {
padding: 0 !important;
Margin: 0 0 O 40px !important;

1i |
Margin-bottom: 10px !important;



}

sub,

sup {
font-size: 70%;
line-height: 0;
position: relative;

sup {
mso-text-raise: 60%;
vertical-align: super;

sub {
bottom: -0.25em;

a {
color: #145c9e;
}

@media screen and (max-width:480px) {

.tolkien-column {
width: 100% !important;
max-width: 100% !important;
min-width: auto !important;

}

.tolkien-column img.full {
width: 100% !important;
max-width: 100% !important;

}

.tolkien-column img[shrinktofit=true] {
width: auto !important;
max-width: 100% !important;

}

</style>

<!--[if (gte mso 9) | (IE)]><style type="text/css">.tolkien-column {
width: 100% !important }</style><![endif]-->

<!--[if gte mso 9]> <style> 1i { text-indent: -lem; /* Normalise space
between bullets and text */ } a { border: none !important; /* Turn off
border for anchor tag */ } </style> <![endif]-->

<style id="asset-specific-css"></style>

Ll==[iE [mge]><l==>
<style type="text/css">
@import

url ('https://fonts.googleapis.com/css?family=Nunito|Poppins&display=swap')

</style>

<link
href="https://fonts.googleapis.com/css?family=Nunito|Poppinsé&display=swap"
rel="stylesheet" type="text/css">

<!I-—<!lTendif]-->



</head>

<body style="min-width:260px; min-height:100%; padding:0; margin:0 auto;
background-color: #F8F8F8; ">
<!--[if (gte mso 9) | (IE)]><center><table border="0" cellpadding="0"
cellspacing="0" align="center"><tr><td width="900"><![endif]-->
<table class="color-wrap" width="100%" cellpadding="0" cellspacing="0"
style="background: #F8F8F8; ">
<tbody>
<tr>
<td>
<table width="100%" cellpadding="0" cellspacing="0"
style="max-width:900px;min-width:300px;margin:0 auto;" class="row row-0">
<tbody>
<tr>
<td style="background:#FFFFFF; ">
<table width="100%" cellpadding="0"
cellspacing="0">
<tbody>
<tr>
<td>
<table width="100%"
cellpadding="0" cellspacing="0">
<tbody>
<tr>
<td
style="text-align:left;vertical-align:top; font-size:0px">
<table
class="tolkien-column tolkien-column-12 col col-0" cellpadding="0"
cellspacing="0" style="vertical-align:top;display:inline-
table;background: transparent;table-layout:fixed; font-family:Arial,
Helvetica, sans-serif;font-size:12px;color:#000000;max~-
width:100%;width:100%;width:-webkit-calc (230400px -
48000%) ;width:calc(230400px - 48000%) ;min-width:480px;min-width:-webkit-
calc (100%) ;min-width:calc (100%) ;">

<tbody>

<tr>

<td class="elg-image-cell cell cell-0" style="background-
color:transparent;line-height:0;padding:0px Opx Opx Opx;text-
align:center;">

<!-—[if mso]><table width="100%" style="width:100%;height:auto;max-
width:825px" cellpadding="0" cellspacing="0" border="0"><tr><td
style="padding-right: Opx; padding-left: Opx;" align="center"><![endif]-->

<img src="{!conference360 Attendee c.conference360 Event Image URL c}"
height="auto" width="100%" style="width:100%;height:auto;max-width:900px">

<!——[if mso]></td></tr></table><! [endif]-->

</td>



</tr>

</tbody>
</table>
</td>
</tr>
</tbody>
</table>
</td>
</tr>
</tbody>
</table>
</td>
</tr>
</tbody>
</table>
<table width="100%" cellpadding="0" cellspacing="0"
style="max-width:900px;min-width:300px;margin:0 auto;" class="row row-1">
<tbody>
<tr>

<td style="background:#FFFFFF; ">
<table width="100%" cellpadding="0"
cellspacing="0">
<tbody>
<tr>
<td>
<table width="100%"
cellpadding="0" cellspacing="0">
<tbody>
<tr>
<td
style="text-align:left;vertical-align:top; font-size:0px">
<table
class="tolkien-column tolkien-column-12 col col-0" cellpadding="0"
cellspacing="0" style="vertical-align:top;display:inline-
table;background: transparent;table-layout:fixed; font-family:Arial,
Helvetica, sans-serif;font-size:12px;color:#000000;max~-
width:100%;width:100%;width:-webkit-calc (230400px -
48000%) ;width:calc(230400px - 48000%) ;min-width:480px;min-width:-webkit-
calc (100%) ;min-width:calc (100%) ;">

<tbody>
<tr>

<td style="background-color:transparent;line-height:18px;padding:10px 10px
10px 10px;" class="elg-text-cell cell cell-0">

<div style="display:inline-block;width:100%;">

<div style="text-align: center; line-height: 21px;font-
family:Poppins,Helvetica,Arial,sans—-serif;letter-



spacing:2px;color:#145c9%e"><strong style="font-size: 14px;">UPCOMING
WEBINAR ALERT</strong></div>

</div>
</td>
</tr>
<tr>

<td style="background-color:transparent;line-height:18px;padding:10px 20px
10px 20px;" class="elg-text-cell cell cell-1">

<div style="display:inline-block;width:100%;">

<div style="text-align: center; line-height: 36px;font-
family:Poppins,Helvetica,Arial,sans-serif"><strong style="font-size:
24px;">Just a friendly reminder of our upcoming webinar.</strong></div>
</div>

</td>

</tr>

<tr>

<td style="height:30px;background-color:transparent;line-height:18px;"
class="elg-space-cell cell cell-2">

<div style="height:30px;display:none;">&nbsp;</div>
</td>
</tr>
<tr>

<td style="background-color:transparent;line-height:18px;padding:10px 20px
10px 20px;" class="elg-text-cell cell cell-3">

<div style="display:inline-block;width:100%;">

<div style="text-align: center;font-family:Nunito,Helvetica,Arial, sans-
serif"><span style="font-size: 1l4px;">The Webinar begins
on&nbsp;</span><strong style="font-size:
l4px;">{!conference360 Attendee c.conference360 FEvent Start Date c} at
{!conference360 Attendee c.conference360 Event Start Time c}.</strong>
</div>

<br>

<div style="text-align: center;font-family:Nunito,Helvetica,Arial, sans-
serif"><span style="font-size: 1l4px;">Join using this link at that
time:</span><strong style="font-size:



l4px;">{!conference360 Attendee c.conference360 AttendeelLink c}.</stro
ng></div>

</div>
</td>
</tr>
<tr>

<td style="height:30px;background-color:transparent;line-height:18px;"
class="elg-space-cell cell cell-4">

<div style="height:30px;display:none;">&nbsp;</div>

</td>

</tr>

</tbody>

</table>

</td>
</tr>
</tbody>
</table>
</td>
</tr>
</tbody>
</table>
</td>
</tr>
</tbody>
</table>
<table width="100%" cellpadding="0" cellspacing="0"
style="max-width:900px;min-width:300px;margin:0 auto;" class="row row-2">
<tbody>
<tr>

<td style="background:#FFFFFF; ">
<table width="100%" cellpadding="0"
cellspacing="0">
<tbody>
<tr>
<td>
<table width="100%"
cellpadding="0" cellspacing="0">
<tbody>
<tr>
<td
style="text-align:left;vertical-align:top; font-size:0px">
<table
class="tolkien-column tolkien-column-3 col col-0" cellpadding="0"
cellspacing="0" style="vertical-align:top;display:inline-



table;background: transparent;table-layout:fixed; font-family:Arial,
Helvetica, sans-serif;font-size:12px;color:#000000;max~-
width:100%;width:25%;width:-webkit-calc (230400px -

48000%) ;width:calc(230400px - 48000%) ;min-width:120px;min-width:-webkit-
calc (25%) ;ymin-width:calc (25%) ;">

<tbody>
<tr>

<td class="elg-image-cell cell cell-0" style="background-
color:transparent;line-height:0;padding:0px Opx Opx Opx;text-
align:center;">

<!—-—[if mso]><table width="100%" style="width:100%;height:auto;max-
width:50%" cellpadding="0" cellspacing="0" border="0"><tr><td
style="padding-right: Opx; padding-left: Opx;" align="center"><![endif]-->

<img
src="https://www.shareicon.net/data/256x256/2016/07/10/119694 calendar 512
x512.png" height="113" width="113" style="width:100%;height:auto;max-
width:50%">

<!-=-[if mso]></td></tr></table><![endif]-->
</td>

</tr>

</tbody>

</table>

Ll==
[if (gte mso 9) | (IE)]></td><td width="75%" style="text-
align:left;vertical-align:top; font-size:0px"><![endif]-->

<table
class="tolkien-column tolkien-column-9 col col-1" cellpadding="0"
cellspacing="0" style="vertical-align:top;display:inline-
table;background: transparent;table-layout:fixed; font-family:Arial,
Helvetica, sans-serif;font-size:12px;color:#000000;max~-
width:100%;width:75%;width:-webkit-calc (230400px -
48000%) ;width:calc(230400px - 48000%) ;min-width:360px;min-width:-webkit-
calc (75%) ;ymin-width:calc (75%) ;">

<tbody>
<tr>

<td style="background-color:transparent;line-height:18px;padding:10px 20px
10px 20px;" class="elg-text-cell cell cell-0">

<div style="display:inline-block;width:100%;">



</div>
</td>
</tr>
<tr>

<td style="background-color:transparent;line-height:18px;padding:10px 20px
10px 20px;" class="elg-text-cell cell cell-1">

<div style="display:inline-block;width:100%;">

<div style="font-family:Nunito,Helvetica,Arial, sans-serif;"><span
style="font-size:
l4px;">{!conference360 Attendee c.conference360 Event Description c}</
span></div>

</div>
</td>
</tr>
</tbody>
</table>
</td>
</tr>
</tbody>
</table>
</td>
</tr>
</tbody>
</table>
</td>
</tr>
</tbody>
</table>
<table width="100%" cellpadding="0" cellspacing="0"
style="max-width:900px;min-width:300px;margin:0 auto;" class="row row-3">
<tbody>
<tr>

<td style="background:#FFFFFF; ">
<table width="100%" cellpadding="0"
cellspacing="0">
<tbody>
<tr>
<td>
<table width="100%"
cellpadding="0" cellspacing="0">
<tbody>
<tr>



<td

style="text-align:left;vertical-align:top; font-size:0px">
<table

class="tolkien-column tolkien-column-12 col col-0" cellpadding="0"
cellspacing="0" style="vertical-align:top;display:inline-
table;background: transparent;table-layout:fixed; font-family:Arial,
Helvetica, sans-serif;font-size:12px;color:#000000;max~-
width:100%;width:100%;width:-webkit-calc (230400px -
48000%) ;width:calc(230400px - 48000%) ;min-width:480px;min-width:-webkit-
calc (100%) ;min-width:calc (100%) ;">

<tbody>
<tr>

<td style="height:30px;background-color:transparent;line-height:18px;"
class="elg-space-cell cell cell-0">

<div style="height:30px;display:none;">&nbsp;</div>
</td>
</tr>
<tr>

<td style="background-color:transparent;line-height:18px;padding:10px 10px
10px 10px;" class="elg-button-cell cell cell-1">

<div style="text-align:center;font-family:Poppins,Arial, Helvetica, sans-
serif;text-transform:uppercase; letter-spacing:3px;">

<div>

<!--[if gte mso 9]>

<a href="{!conference360 Attendee c.conference360 AttendeelLink c}"

target="undefined" title="undefined" data-targettype="undefined" data-
targetname="undefined" style="text-decoration: none;">

<table class="null" cellSpacing="0" cellPadding="0" style="display:
inline-table;font-size: 12px; border: Opx;border-spacing: Opx;border-
collapse: separate;vertical-align: top;margin: Opx auto; width: auto;
table-layout: fixed;">

<tbody>
<tr style="vertical-align: top;">
<td style="font-family: Poppins,Arial, Helvetica, sans-serif;letter-

spacing:3px;text-transform:uppercase; vertical-align: middle; word-wrap:
break-word; overflow-wrap: break-word; color: #fff; text-align: center;



background-color: #4CAEFB; padding: 10px 30px 10px 30px; border-radius:
30px; border: 2px none #000000;">

<![endif]-->

</div><a
href="{!conference360 Attendee c.conference360 AttendeelLink c}"
style="text-decoration:none;vertical-align:middle;word-wrap:break-
word;overflow-wrap:break-word;color:#fff;text-align:center;background-
color:#4CAEFB; padding:10px 30px 10px 30px;border-
radius:30px;display:inline-block;max-width:100%;width:auto;"><span
style="background-color: #4CAEFB;cursor:pointer; text-decoration:none;user-
select:none; text-transform:uppercase; letter-spacing:3px; font-
family:Poppins,Helvetica,Arial, sans-serif;"><span><strong style="color:
rgb (255, 255, 255);">Add to Calendar</strong></span></span></a>

<div>

<!-—[1if gte mso 9]></td></tr></tbody></table></a><![endif]-->

</div>

</div>

</td>

</tr>

<tr>

<td style="height:30px;background-color:transparent;line-height:18px;"
class="elg-space-cell cell cell-2">

<div style="height:30px;display:none;">&nbsp;</div>

</td>

</tr>

</tbody>
</table>

</td>
</tr>
</tbody>
</table>
</td>
</tr>
</tbody>
</table>
</td>
</tr>
</tbody>

</table>



</td>
</tr>
</tbody>
</table>
<!--[if (gte mso 9) | (IE)]></td></tr></table></center><![endif]-->
</body>
</html>



